Brand	Food	Ca min Ca	a max Ca As F	ed <mark>High</mark>	est Ca P	rotein Fa	at Fi	iber M	loisture K	cal/kg	kcal/cup	kcal kg/cup 1st Ingredient	2nd Ingredient	3rd Ingredient
Ziwi Peak	Lamb	1.90%			1.90%	33.0%	27.0%	1.5%	15.0%	4465		Lamb	Lamb Organs	Green-Lipped Mussel
Ziwi Peak	Vension & Fish	2.10%			2.10%	34.0%	26.0%	1.8%	15.0%	4244		Venison	Venison Organs	Fish
Ziwi Peak	Venison	2.30%			2.30%	34.0%	26.0%	1.6%	15.0%	4351		Venison	Venison Organs	Green-Lipped Mussel
Acana	Sport & Agility	1.40%			1.40%	33.0%	24.0%	3.0%		4650	460	10.11 Chicken Meal	Steamed Oats	Chicken Fat
Blackwood	Expro supplement				0.00%	33.0%	23.0%	3.0%	10.0%	3545		Chicken Meal	Chicken Fat	Rice Flour
EVO	Turkey & Chicken	2.55%			2.55%	42.0%	22.0%	2.5%	10.0%	4243	537		Chicken	Turkey Meal
EVO	Red Meat Formula	2.09%			2.09%	42.0%	22.0%	2.5%	10.0%	4370		•	Lamb Meal	Potatoes
Pinnacle	Peak	2.03/0	-		2.11%	42.0%	22.0%	2.0%	10.0%	4100	500		Chicken	Potatoes
	Chicken Meal Formula	2.400/	4	2.11/0		42.0%		3.2%	10.0%	4100				
Nature's Variety Instinct		2.49%			2.49%		22.0%				490		Tapioca Mass	Chicken Fat
Nature's Variety Instinct	Rabbit Meal	1.12%			1.12%	35.0%	22.0%	2.0%	10.0%		482		Salmon Meal	Tapioca
Nature's Variety Instinct	Duck Meal & Turkey Meal Formula	1.92%			1.92%	35.0%	22.0%	3.5%	10.0%		464		Turkey Meal	Salmon Meal
Artemis Fresh Mix	Maximal				2.00%	42.0%	22.0%	3.0%	10.0%	4000	420		Potatoes	Chicken Fat
Merrick	BG Chicken		2	2.12%	2.12%	34.6%	21.2%	1.1%	5.1%	3595	385		Chicken Meal	Potato Dehydrated
Merrick	BG Buffalo		1	1.97%	1.97%	34.9%	21.2%	1.6%	6.0%	3581	383		Chicken Meal	Potato Dehydrated
Canine Caviar	Free Range Buffalo	2.00%			2.00%	30.0%	21.0%	3.6%	8.0%		599	Buffalo Meal	Chickpea	Lamb Fat
Nutrisource	Super Performance		2	2.04%	2.04%	32.0%	21.0%	4.0%	10.0%	4239	529	8.01 Chicken Meal	Chicken	Brown Rice
Nutrisource	Small & Medium Puppy	2.04%	2	2.04%	2.04%	32.0%	21.0%	5.0%	10.0%	4175	384	10.87 Chicken	Chicken Meal	Brown Rice
Merrick	BG Salmon		1	1.94%	1.94%	36.0%	20.2%	1.1%	3.8%	3586	383	9.36 Salmon Deboned	Chicken Meal	Potato Dehydrated
The Honest Kitchen	Love				1.19%	32.2%	20.0%	6.2%	7.5%	4470			Sweet Potatoes	Potatoes
Canidae	Pure Sea				2.00%	40.0%	20.0%	3.0%	10.0%	3900	498	•	Potatoes	Potato Protein
Nutrisource	Performance Chicken & Rice				1.55%	30.0%	20.0%	4.0%	10.0%	4226			Chicken Meal	Brown Rice
Annamaet	Ultra				1.40%	32.0%	20.0%	3.0%	10.0%	4220	491		Chicken	Brown Rice
		1 500/	1.70%				20.0%			4150			Chicken Meal	Fresh Boneless Salmon
Orijen	Puppy	1.50%	1./0%		1.70%	40.0%		3.0%	10.0%	4150				
Nature's Variety Instinct	Salmon Meal	2.49%			2.49%	35.0%	20.0%	2.5%	10.0%		470		Herring Meal	Menhaden Fish Meal
Solid Gold	Barking at the Moon				0.00%	41.0%	20.0%	4.0%	10.0%		465		Beef	Potatoes
Acana	Puppy Small Breed	1.30%			1.30%	33.0%	20.0%	2.5%		4450	460	9.67 Chicken Meal	Steamed Oats	Fresh Free-Run Chicken
Earthborn Holistics	Puppy Vantage	1.20%			1.20%	28.0%	20.0%	5.0%	10.0%	3845	450	8.54 Chicken Meal	Whitefish Meal	Oatmeal
Earthborn Holistics	Primitive Natural	2.45%			2.45%	38.0%	20.0%	2.5%	10.0%	3800	445	8.54 Turkey Meal	Chicken Meal	Whitefish Meal
Tuscan Natural Carne	Dog		1	1.80%	1.80%	35.0%	20.0%	3.0%	11.0%	3700	436	8.49 Turkey	Chicken	Turkey meal
Canine Caviar	Grain Free Puppy	1.30%			1.30%	31.0%	19.0%	4.8%	8.0%		599	Dehydrated Chicken	Split Peas	Chicken Fat
The Honest Kitchen	Thrive		1.34%	0.62%	1.34%	26.1%	19.0%	6.3%	7.3%	4490	510	8.80 Dehydrated Free-Range Chicken	Organic Free-Trade Qu	in Sweet Potatoes
Acana	Puppy & Junior	1.30%			1.30%	33.0%	19.0%	3.0%		4250	430		Steamed Oats	Fresh Free-Run Chicken
Fromm	Grain-Free Surf and Turf				0.00%	30.0%	19.0%	3.5%	10.0%	4306	422		Duck Meal	Fresh Russett Potatoes
Merrick	WEF- Puppy		3		2.10%	29.5%	18.6%	2.0%	8.3%	3745			Turkey Meal	Oat Meal
Nature's Logic	Venison		2.12%		2.12%	38.3%	18.1%	2.070	0.570	3656	403		Beef Meal	Millet
· ·														
Nature's Logic	Duck & Salmon		2.12%		2.12%	38.3%	18.1%			3656	403		Millet	Turkey Meal
Nature's Logic	Chicken		2.12%		2.12%	38.3%	18.1%			3656	403		Millet	Chicken Fat
Nature's Logic	Lamb		2.12%		2.12%	32.0%	18.1%			3580	345		Millet	Beef Fat
Timberwolf	Wild & Natural	1.40%			1.40%	36.0%	18.0%	2.5%	9.0%	3980	564		Chicken	Herring Meal
Timberwolf	Lamb & Barley	1.75%			1.75%	28.0%	18.0%	3.0%	9.0%	3920	556	7.05 Lamb Meal	Salmon Meal	Lamb
EVO	Herring & Salmon	2.21%			2.21%	42.0%	18.0%	3.0%	10.0%	4040	516	7.83 Herring	Salmon Meal	Herring Meal
Nutrisource Grain Free	Lamb		2	2.27%	2.27%	28.0%	18.0%	5.0%	10.0%	4120	506	8.14 Lamb Meal	Peas	Salmon Meal
Canidae	Pure Elements		2	2.00%	2.00%	34.0%	18.0%	3.0%	10.0%	3900	498	7.83 Chicken meal	Turkey Meal	Lamb
Orijen	Regional Red	1.60%	1.80%		1.80%	38.0%	18.0%	3.0%	10.0%	4010	480	8.35 Fresh Deboned Wild Boar	Fresh Deboned Lamb	Fresh Beef Liver
Orijen	6 Fish	1.40%	1.60%		1.60%	38.0%	18.0%	3.0%	10.0%	4010	480	8.35 Fresh Boneless Salmon	Salmon Meal	Herring Meal
Horizon Legacy	Puppy				0.00%	26.0%	18.0%	3.5%	9.0%	3840			Chicken Meal	Turkey Meal
Horizon Complete	Рирру	1.10%			1.10%	28.0%	18.0%	3.0%	10.0%	3780			Whole Grain Barley	Chicken
Nutrisource Grain Free	Chicken	1.10/0	1		1.29%	28.0%	18.0%	5.0%	10.0%	4120			Chicken Meal	Peas
		1 1 1 1 0 /	-		1.14%	32.0%	18.0%		10.0%					Red Lentils
Horizon Amicus	Puppy	1.14%						4.0%		3770		•	Chicken Meal	
Petcurian Go!	Fit + Free Puppy	2.20%			2.20%	36.0%	18.0%	3.0%	10.0%	4100			Turkey Meal	Salmon Meal
Nature's Variety Instinct	LID Turkey	1.20%			1.20%	29.0%	18.0%	3.5%	10.0%		444	•	Tapioca	Canola Oil
Earthborn Holistics	Coastal Catch	1.30%			1.30%	32.0%	18.0%	4.0%	10.0%	3725			Potatoes	Peas
Nature's Variety Instinct	LID Lamb meal	2.40%			2.40%	29.0%	18.0%	3.5%	10.0%		433		Tapioca	Canola Oil
Acana	Grasslands	2.00%			2.00%	32.0%	18.0%	3.5%		3750	430	8.72 Boneless Lamb	Lamb Meal	Salmon Meal
Acana	Pacifica	1.40%			1.40%	33.0%	18.0%	3.0%		3750	430	8.72 Chicken Meal	Steamed Oats	Fresh Free-Run Chicken
Earthborn Holistics	Great Plains Feast	1.50%			1.50%	34.0%	18.0%	4.0%	10.0%	3675	430	8.55 Bison Meal	Peas	Pea Protein
Back to Basics	Pork	1.50%			1.50%	38.0%	18.0%	3.0%	10.0%	4219	424	9.95 Pork Liver	Pork Meal	Pork Protein
Vet's Choice Holistic Health Extension	Original	1.10%			1.10%	24.0%	18.0%	4.0%	10.0%	3678			Chicken Meal	Ground Brown Rice
Fromm	Grain-Free Beef Frittata Veg				0.00%	30.0%	18.0%	3.5%	10.0%	4262		=	Peas	Whole Egg
Petcurian Now Fresh	Puppy	1.20%			1.20%	28.0%	18.0%	3.0%	10.0%	3746			Potato Flour	Peas
Fromm	Puppy Gold	1.20/0			0.00%	27.0%	18.0%	3.5%	10.0%	4290			Chicken Meal	Fresh Chicken
Vet's Choice Holistic Health Extension		1 200/												
	Grain Free	1.20%			1.20%	27.0%	18.0%	5.0%	10.0%	3565	405	_	Chicken Meal	Deboned Turkey
Back to Basics	Turkey	1.50%			1.50%	38.0%	18.0%	3.0%	10.0%	4004	402	9.96 Turkey Giblets	Turkey Meal	Turkey

Back to Basics	Duck	1.50%			1.50%	38.0%	18.0%	3.0%	10.0%	4080	387	10.54 Duck and Chicken Giblets	Duck Meal	Chicken Meal
Solid Gold	Just a Wee Bit				0.00%	28.0%	18.0%	4.0%	10.0%		380	Bison	Ocean Fish Meal	Millet
Taste of the Wild	Wetlands			2.10%	2.10%	32.0%	18.0%	4.0%	10.0%	3750	375	10.00 Duck	Duck Meal	Chicken Meal
Innova	Low Fat Adult	0.67%			0.67%	18.0%	18.0%	7.0%	9.0%	3340	374	8.93 Turkey	Chicken	Barley
Dogswell	Nutrisca Lamb & Chickpea	2.20%			2.20%	30.0%	18.0%	7.0%	10.0%	3500	370	9.46 Lamb	Lamb Meal	Peas
Dogswell	Nutrisca Chicken & Chickpea	1.70%			1.70%	32.0%	18.0%	7.0%	10.0%	3500	370	9.46 Chicken	Chicken Meal	Peas
Taste of the Wild	High Prairie			2.10%	2.10%	32.0%	18.0%	3.0%	10.0%	3719	370	10.05 Bison	Lamb Meal	Chicken Meal
Nature's Logic	Beef		2.12%		2.12%	31.5%	17.5%			3580	345	10.38 Beef Meal	Millet	Beef Fat
Acana	Ranchlands	1.80%			1.80%	31.0%	17.0%	3.0%		3850	460	8.37 Deboned Beef	Lamb Meal	Herring Meal
Orijen	Adult	1.40%	1.60%		1.60%	38.0%	17.0%	3.0%	10.0%	3900	460	8.48 Fresh Boneless Chicken	Chicken Meal	Fresh Boneless Salmon
Earthborn Holistics	Small Breed Adult	1.46%			1.46%	28.0%	17.0%	6.0%	10.0%	3724	435	8.56 Chicken Meal	Whitefish Meal	Oatmeal
Petcurian Now Fresh	Small Breed	1.20%			1.20%	27.0%	17.0%	4.0%	10.0%	3741	430	8.70 Deboned Turkey	Potatoes	Whole Dried Egg
Acana	Wild Prairie	1.30%			1.30%	33.0%	17.0%	3.5%		3725	425	8.76 Chicken Meal	Russet Potato	Boneless Chicken
Fromm	Grain-Free Game Bird				0.00%	29.0%	17.0%	3.5%	10.0%	4258	417	10.20 Fresh Duck	Duck Meal	Peas
Acana	Adult Small Breed	1.30%			1.30%	33.0%	17.0%	2.5%		4150	415	10.00 Chicken Meal	Steamed Oats	Fresh Free-Run Chicken
Taste of the Wild	High Prairie Puppy			1.40%	1.40%	28.0%	17.0%	5.0%	10.0%	3656	364	10.04 Bison	Lamb	Sweet Potatoes
Artemis Fresh Mix	Small Breed Puppy		1.70%	1.60%	1.70%	28.0%	17.0%	3.0%	10.0%	3719	348	10.69 Chicken	Chicken Meal	Turkey
Chicken Soup	Puppy			1.80%	1.80%	28.0%	17.0%	3.0%	10.0%	3719	348	10.69 Chicken	Turkey	Chicken Meal
Blackwood	Puppy Growth				0.00%	27.0%	17.0%	3.0%	10.0%	3685		Chicken Meal	Brown Rice	Millet
Merrick	Wilderness Blend			2.33%	2.33%	24.1%	16.6%	4.0%	6.7%	3643	364	10.01 Buffalo	Salmon Meal	Lamb Meal
The Honest Kitchen	Embark		1.83%	0.85%	1.83%	29.7%	16.1%	9.4%	7.1%	4290	487	8.81 Dehydrated Cage-Free USDA Turkey	Organic Flaxseed	Potatoes
Canine Caviar	Wild Ocean	2.60%		0.007	2.60%	31.0%	16.0%	4.6%	8.0%		599	Herring Meal	Split Peas	Menhaden Oil
Canine Caviar	Wilderness	1.00%			1.00%	26.0%	16.0%	4.3%	8.0%		599	Venison Meal	Split Peas	Lamb Fat
California Natural	Lamb Meal & Rice Puppy			2.21%	2.21%	26.0%	16.0%	2.0%	10.0%	4247	535	7.94 Lamb Meal	Brown Rice	Sunflower Oil
Timberwolf	Dakota Bison	1.75%			1.75%	26.0%	16.0%	3.0%	9.0%	3680	522	7.05 Bison	Salmon Meal	Millet
Timberwolf	Wilderness	1.75%			1.75%	26.0%	16.0%	3.0%	9.0%	3680	522	7.05 Elk	Salmon Meal	Oats
Timberwolf	Ocean Blue	1.75%			1.75%	26.0%	16.0%	3.0%	9.0%	3675	521	7.05 White Fish Meal	Herring	Potatoes
Canidae	Pure Sky	21,7570		1.80%	1.80%	33.0%	16.0%	4.0%	10.0%	3925	501	7.83 Duck	Turkey Meal	Potatoes
Innova	Prime Beef & Lamb Meal	2.14%		1.0070	2.14%	35.0%	16.0%	4.0%	10.0%	3997	497	8.04 Beef	Lamb Meal	Green Lentils
Innova	Prime Salmon & Herring	1.49%			1.49%	35.0%	16.0%	4.0%	10.0%	4072	483	8.43 Salmon	Salmon Meal	Red Lentils
Innova	Prime Chicken & Turkey	1.88%			1.88%	38.0%	16.0%	4.0%	10.0%	3844	478	8.04 Chicken	Chicken Meal	Peas
California Natural	Chicken Meal & Rice Puppy	1.0070		1.36%	1.36%	26.0%	16.0%	1.5%	10.0%	3788	466	8.13 Chicken Meal	Brown Rice	Rice
Pure Vita	Grain Free Turkey			2.02%	2.02%	24.0%	16.0%	6.0%	10.0%	3972	462	8.60 Turkey	Turkey Meal	Sweet Potatoes
Innova	Puppy	1.07%		2.0270	1.07%	28.1%	16.0%	2.5%	10.0%	3801	454	8.37 Turkey	Chicken	Chicken Meal
Pure Vita	Grain Free Salmon	1.0770		2.50%	2.50%	24.0%	16.0%	6.0%	10.0%	3908	454	8.61 Salmon	Salmon Meal	Peas
Horizon Amicus	Adult	1.16%		2.5070	1.16%	30.0%	16.0%	4.3%	10.0%	3670	440	8.34 Turkey	Chicken Meal	Red Lentils
Blue Buffalo Wilderness	Puppy	1.30%			1.30%	36.0%	16.0%	6.0%	10.0%	3629	438	8.29 Deboned Chicken	Chicken Meal	Turkey Meal
Petcurian Go!	Fit + Free Adult	2.00%			2.00%	34.0%	16.0%	3.0%	10.0%	3951	435	9.08 Chicken Meal	Turkey Meal	Salmon Meal
Tuscan Natural Harvest	Turkey & Chicken Puppy			1.20%	1.20%	28.0%	16.0%	2.5%	11.0%	3690	435	8.48 Chicken Meal	Brown Rice	Brewers Rice
EVO	Turkey & Chicken Senior	2.10%			2.10%	42.0%	16.0%	4.0%	10.0%	4080	434	9.40 Turkey	Chicken Meal	Chicken
Annamaet Grain Free	Salcha			1.50%	1.50%	30.0%	16.0%	3.0%	10.0%	3980	430	Chicken Meal	Potato	Turkey Meal
Annamaet Grain Free	Agualuk			1.91%	1.91%	30.0%	16.0%	3.5%	10.0%	3951	426	Salmon Meal	Potato	Catfish Meal
Annamaet Grain Free	Manitok			1.42%	1.42%	30.0%	16.0%	3.5%	10.0%	3912	422	Lamb Meal	Potato	Catfish Meal
Wellness CORE	Original		2.00%		2.00%	34.0%	16.0%	4.0%	10.0%	3660	421	8.69 Deboned Turkey	Turkey Meal	Chicken Meal
Wellness CORE	Ocean		2.10%		2.10%	34.0%	16.0%	7.0%	10.0%	3630	417	8.71 Whitefish	Herring Meal	Salmon Meal
Lotus	Chicken Puppy	1.24%			1.24%	27.0%	16.0%	4.5%	10.0%	3694	415	8.90 Chicken	Chicken Liver	Chicken Meal
Orijen	Puppy Large	1.50%	1.70%		1.70%	38.0%	16.0%	3.0%	10.0%	3400	410	8.29 Fresh Boneless Chicken	Chicken Meal	Fresh Boneless Salmon
Fromm	Grain-Free Salmon Tunalini				0.00%	28.0%	16.0%	3.5%	10.0%	4157	407	10.20 Fresh Pacific Wild Salmon	Salmon Meal	Peas
Acana	Adult Dog	1.20%			1.20%	29.0%	16.0%	3.0%		4050	405	10.00 Chicken Meal	Steamed Oats	Fresh Free-Run Chicken
Nutrisource	Adult Chicken & Rice			1.52%	1.52%	26.0%	16.0%	4.0%	10.0%	3968	405	9.80 Chicken	Chicken Meal	Brown Rice
Fromm	Adult Gold				0.00%	24.0%	16.0%	3.5%	10.0%	4235	393	10.76 Fresh Duck	Chicken Meal	Fresh Chicken
Fromm	Salmon a la Veg				0.00%	25.0%	16.0%	3.5%	10.0%	4136	389	10.63 Fresh Pacific Wild Salmon	Salmon Meal	Brown Rice
Petcurian Now Fresh	Large Breed Puppy	1.30%			1.30%	29.0%	16.0%	2.5%	10.0%	3446	379	9.09 Deboned Turkey	Whole Dried Egg	Potatoes
Petcurian Now Fresh	Adult	1.10%			1.10%	26.0%	16.0%	3.5%	10.0%	3598	378	9.52 Deboned Turkey	Potato Flour	Peas
Dogswell	Nutrisca Salmon & Chickpea	2.30%			2.30%	30.0%	16.0%	6.0%	10.0%	3300	350	9.43 Salmon	Menhaden Fish Meal	Peas
Infinia	Bison & Potato	1.20%			1.20%	34.0%	16.0%	3.0%	10.0%			Bison	Lamb Meal	Potatoes
Infinia	Turkey & Sweet Potato	1.20%			1.20%	32.0%	16.0%	3.0%	10.0%			Turkey	Chicken	Turkey Meal
Natural Balance	Synergy	,			0.00%	28.0%	16.0%	5.0%	10.0%			Chicken	Chicken Meal	Brown Rice
Canidae	Chicken & Rice	1.20%			1.20%	26.0%	15.5%	4.0%	10.0%	4125	468	8.81 Chicken meal	Brown Rice	White Rice
Merrick	Campfire Trout			1.10%	1.10%	25.7%	15.2%	1.6%	8.0%	3700	370	10.00 Trout	Oatmeal	Barley
Canine Caviar	Open Sky	1.00%			1.00%	29.0%	15.0%	3.3%	8.0%		599	Duck Meal	Chickpea	Duck Fat
Timberwolf	Southwest	1.30%			1.30%	25.0%	15.0%	3.0%	9.0%	3940	522	7.55 Chicken Meal	Chicken	Turkey Meal
Canidae	Pure Land	50,0		1.95%	1.95%	26.4%	15.0%	4.0%	10.0%	3706	473	7.84 Bison	Lamb Meal	Sweet Potatoes
EVO	Weight Management	1.50%			1.50%	52.0%	15.0%	2.5%	10.0%	3760	458	8.21 Turkey	Chicken	Chicken Meal
- -		2.50/0				52.570	_5.576	,0	_0.070	3.30	.55	- · · - · · · · ,		

Timberwolf	Gaea	1.20%			1.20%	25.0%	15.0%	4.0%	10.0%	4052	434	9.34 Chicken Meal	Turkev Meal	Brown Rice
Nutrisource Grain Free	Heartland Select	1.2070		1.90%	1.90%	25.0%	15.0%	7.0%	10.0%	3810	432	8.82 Bison	Chicken	Chicken Meal
Blue Buffalo Wilderness	Small Breed Chicken	1.00%			1.00%	36.0%	15.0%	7.0%	10.0%	3544	423	8.38 Deboned Chicken	Chicken Meal	Turkey Meal
Horizon Legacy	Adult	2.0070			0.00%	34.0%	15.0%	3.5%	10.0%	3650	420	8.69 Chicken	Chicken Meal	Pea
Blue Buffalo Wilderness	Salmon	1.30%			1.30%	34.0%	15.0%	6.5%	10.0%	3529	415	8.50 Deboned Salmon	Menhaden Fish Meal	Chicken Meal
Blue Buffalo Wilderness	Chicken	1.30%			1.30%	34.0%	15.0%	6.5%	10.0%	3489	410	8.51 Deboned Chicken	Chicken Meal	Potato Starch
Blue Buffalo Wilderness	Duck	1.30%			1.30%	34.0%	15.0%	6.5%	10.0%	3488	410	8.51 Deboned Duck	Chicken Meal	Potato Starch
Horizon Pulsar	Fish	1.15%			1.15%	28.0%	15.0%	5.0%	9.0%	3685	410	8.99 Salmon Meal	Red Lentils	Peas
Fromm	Classic Adult				0.00%	23.0%	15.0%	4.0%	10.0%	4168	404	10.30 Fresh Chicken	Chicken Meal	Brown Rice
Horizon Pulsar	Chicken	1.10%			1.10%	28.0%	15.0%	4.2%	9.0%	3665	403	9.09 Chicken Meal	Red Lentils	Peas
Nutrisource Grain Free	Seafood Select			1.90%	1.90%	25.0%	15.0%	6.5%	10.0%	3300	400	8.25 Salmon	Menhaden Fish Meal	Peas
Orijen	Senior	1.40%	1.60%		1.60%	38.0%	15.0%	5.0%	10.0%	3400	395	8.61 Fresh Boneless Chicken	Chicken Meal	Fresh Boneless Salmon
Fromm	Chicken a la Veg				0.00%	24.0%	15.0%	3.5%	10.0%	4189	394	10.63 Fresh Chicken	Chicken Meal	Pearled Barley
Fromm	Duck & Sweet Potato				0.00%	24.0%	15.0%	3.5%	10.0%	4155	391	10.63 Fresh Duck	Duck Meal	Pearled Barley
Pinnacle	Chicken & Oatmeal			1.12%	1.12%	25.0%	15.0%	5.0%	10.0%	3620	391	9.26 Chicken Meal	Chicken	Oatmeal
Acana	Lamb & Apple	1.80%			1.80%	27.0%	15.0%	3.0%		3950	390	10.13 New Zealand Lamb Meal	Steamed Oats	Peas
Acana	Puppy Large Breed	1.20%			1.20%	33.0%	15.0%	3.5%		3950	390	10.13 Boneless Salmon	Salmon Meal	Herring Meal
Darford Zero/G	Turkey & Chicken				0.00%	30.0%	15.0%	5.0%	10.0%	3772	388	9.72 Turkey	Chicken	Chicken Meal
Darford Zero/G	Sardine, Whitefish & Mysis Shrimp				0.00%	30.0%	15.0%	5.0%	10.0%	3772	388	9.72 Sardines	Whitefish Meal	Menhaden Fish Meal
Brothers Complete	Allergy Turkey Formula			1.51%	1.51%	33.0%	15.0%	4.0%	10.0%	3650	386	9.46 Turkey Meal	Peas	Dried Eggs
Brothers Complete	Fish Protein Formula			2.21%	2.21%	34.0%	15.0%	4.0%	10.0%	3550	376	9.44 Salmon Fish Meal	Menhaden Fish Meal	Turkey Meal
Castor & Pollux Ultramix	Grain Free & Poultry Free Adult	1.20%			1.20%	30.0%	15.0%	4.5%	10.0%	3524	375	9.39 Salmon	Salmon Meal	Herring Meal
Castor & Pollux Ultramix	Adult	1.00%			1.00%	25.0%	15.0%	3.0%	10.0%	3600	375	9.59 Chicken	Chicken Meal	Turkey Meal
Castor & Pollux Ultramix	Grain Free Adult	1.20%			1.20%	30.0%	15.0%	5.0%	10.0%	3500	373	9.39 Chicken	Chicken Meal	Turkey Meal
Taste of the Wild	Pacific Stream Puppy			1.30%	1.30%	27.0%	15.0%	5.0%	10.0%	3600	360	10.00 Salmon	Ocean Fish Meal	Sweet Potatoes
Taste of the Wild	Pacific Stream			1.90%	1.90%	25.0%	15.0%	3.0%	10.0%	3600	360	10.00 Salmon	Ocean Fish Meal	Sweet Potatoes
Nutro Ultra	Puppy	1.10%	1.50%		1.50%	28.0%	15.0%	4.0%	10.0%	3660	355	10.31 Chicken	Chicken Meal	Whole Brown Rice
Nutro Ultra	Small Breed Adult	0.70%			0.70%	26.0%	15.0%	4.0%	10.0%	3630	352	10.31 Chicken	Chicken Meal	Whole Brown Rice
Artemis Fresh Mix	Small Breed Adult		1.60%	1.50%	1.60%	25.0%	15.0%	3.0%	10.0%	3683	345	10.68 Chicken	Chicken Meal	Turkey
Taste of the Wild	Sierra Mountain			1.60%	1.60%	25.0%	15.0%	4.0%	10.0%	3611	338	10.68 Lamb	Lamb Meal	Sweet Potatoes
Blackwood	Grain Free Chicken				0.00%	28.0%	15.0%	3.5%	10.0%	3545		Chicken Meal	Potato Flakes	Tapioca Starch
Blackwood	Grain Free Salmon				0.00%	28.0%	15.0%	3.5%	10.0%	3525		Salmon Meal	Potato Flakes	Tapioca Starch
Castor & Pollux Organix	Puppy	1.00%			1.00%	28.0%	15.0%	3.8%	10.0%			Organic Chicken	Chicken Meal	Organic Peas
Infinia	Chicken & Brown Rice	1.20%			1.20%	26.0%	15.0%	5.0%	10.0%			Chicken	Chicken Meal	Turkey Meal
Pure Vita	Grain Free Bison			1.80%	1.80%	26.0%	15.0%	8.5%	10.0%			Bison	Peas	Sweet Potatoes
The Honest Kitchen	Force		1.92%	0.90%	1.92%	21.9%	14.9%	5.5%	6.8%	3930	447	8.80 Dehydrated Free-Range Chicken	Organic Flaxseed	Potatoes
The Honest Kitchen	Keen		1.73%	0.79%	1.73%	20.0%	14.5%	4.5%	8.5%	4140	470	8.80 Dehydrated Cage-Free Turkey	Organic Oats	Potatoes
Canidae	All Life Stages	1.20%			1.20%	24.0%	14.5%	4.0%	10.0%	4125	468	8.81 Chicken meal	Turkey Meal	Lamb Meal
Merrick	Puppy Plate			2.45%	2.45%	28.0%	14.3%	4.2%	7.2%	3643	364	10.01 Chicken	Turkey Meal	Chicken Meal
Merrick	Cowboy Cookout			2.39%	2.39%	25.3%	14.0%	5.7%	6.1%	3543	354	10.01 Beef	Pork Meal	Ground Rice
Addiction	Viva la Venison			2.30%	2.30%	26.0%	14.0%	3.5%	10.0%	4285	557	7.69 Venison Meal	Dried Potatoes	Chicken Fat
Innova	Adult	1.23%			1.23%	24.0%	14.0%	2.5%	10.0%	3694	504	7.33 Turkey	Chicken	Chicken Meal
Nutrisource Grain Free	Large Breed Chicken			1.00%	1.00%	23.0%	14.0%	6.0%	10.0%	3949	489	8.08 Chicken	Chicken Meal	Pea Starch
Innova	Adult Red Meat	1.16%			1.16%	24.0%	14.0%	3.0%	10.0%	3914	468	8.36 Beef	Lamb Meal	Barley
Petcurian Go!	Refresh + Renew Chicken	1.20%			1.20%	24.0%	14.0%	2.5%	10.0%	3889	467	8.33 Chicken Meal	Deboned Chicken	Whole Brown Rice
Canidae	Single Grain Protein Plus			2.10%	2.10%	29.5%	14.0%	4.0%	10.0%	4087	464	8.81 Chicken	Turkey Meal	Brown Rice
Nutrisource Grain Free	Large Breed Lamb	2 2004		1.96%	1.96%	23.0%	14.0%	6.0%	10.0%	3736	441	8.47 Lamb Meal	Peas	Pea Starch
Nature's Variety Prairie	Venison Meal & Millet	2.00%			2.00%	26.0%	14.0%	3.9%	10.0%		434	Venison Meal	Millet	Oatmeal
Nature's Variety Prairie	Beef Meal & Barley	1.41%		4.400/	1.41%	26.0%	14.0%	3.5%	10.0%	2640	430	Beef Meal	Barley	Brown Rice
Tuscan Natural Harvest	Turkey & Chicken			1.40%	1.40%	24.0%	14.0%	3.0%	11.0%	3640	430	8.47 Turkey	Chicken	Chicken Meal
Nutrisource	Large Breed Adult	1.650/		1.20%	1.20%	23.0%	14.0%	4.0%	10.0%	3908	429	9.11 Chicken	Chicken Meal	Brown Rice
Nature's Variety Prairie	Salmon Meal & Brown Rice	1.65%		1.020/	1.65%	26.0%	14.0%	3.5%	10.0%	2020	420	Salmon Meal	Brown Rice	Oatmeal White Bice
Nutrisource	Large Breed Adult Lamb & Rice			1.92% 0.96%	1.92% 0.96%	23.0%	14.0%	6.0% 4.0%	10.0%	3829	419	9.14 Lamb Meal 9.40 Chicken Meal	Brown Rice	White Rice
Annamaet	Extra	1 100/		0.96%		26.0%	14.0%	3.0%	10.0% 10.0%	3900	415		Ground Corn	Brown Rice
Horizon Complete	Adult	1.10%			1.10%	26.0%	14.0% 14.0%			3640	415 415	8.77 Chicken Meal Chicken Meal	Whole Grain Barley Brown Rice	Whole Grain Rye
Nature's Variety Prairie	Puppy Encore	1.10%		0.94%	1.10% 0.94%	26.0% 25.0%	14.0% 14.0%	3.5% 4.0%	10.0% 10.0%	3896	415 414	9.41 Chicken Meal	Brown Rice	Barley Millet
Annamaet Pinnacle	Grain Free Salmon & Potato			0.94% 1.40%	1.40%	25.0%	14.0% 14.0%	4.0% 4.5%	10.0%	3896 3507	414	8.51 Salmon	Salmon Meal	
Pinnacie Pinnacle				1.40%	1.40%	27.0%	14.0% 14.0%	4.5% 4.5%	10.0%	3507 3507	412 412	8.51 Salmon 8.51 Turkey		Potatoes Potatoes
Nature's Variety Prairie	Grain Free Turkey & Potato Lamb Meal & Oatmeal	1.89%		1.40%	1.40%	26.0%	14.0% 14.0%	4.5% 3.4%	10.0%	3507	412 409	8.51 Turkey Lamb Meal	Turkey Meal Oatmeal	Brown Rice
Natural Planet Organics	Adult	1.0370			0.00%	23.0%	14.0%	4.0%	10.0%	3888	397	9.79 Organic Chicken	Chicken Meal	Organic Brown Rice
Nature's Variety Prairie	Chicken Meal & Brown Rice	1.41%			1.41%	26.0%	14.0%	3.4%	10.0%	2000	391	Chicken Meal	Brown Rice	Barley
Acana	Adult Large Breed	1.41%			1.41%	34.0%	14.0%	3.4%	10.070	4000	385	10.39 Chicken Meal	Steamed Oats	Fresh Free-Run Chicken
Vet's Choice Holistic Health Extension	Lamb & Rice	1.20%			1.20%	24.0%	14.0%	4.0%	10.0%	3394	385	8.82 Deboned Lamb	Lamb Meal	Whole Brown Rice
Vet 3 Choice Houstle Health Extension	Lamb & Nice	1.20/0			1.20/0	27.070	17.0/0	7.0/0	10.070	2224	303	5.52 Deboned Lamb	Lumb Mcal	WHOIC DIOWIT MICE

Fromm	Large Breed Puppy Gold				0.00%	26.0%	14.0%	3.5%	10.0%	4134	384	10.76 Fresh Duck	Chicken Meal	Fresh Chicken
Fromm	Pork & Applesauce				0.00%	24.0%	14.0%	3.5%	10.0%	4076	384	10.63 Fresh Pork	Pork Meal	Oatmeal
Brothers Complete	White Meat Formula			1.81%	1.81%	36.0%	14.0%	4.0%	10.0%	3595	380	9.46 Chicken Meal	Tapioca	Turkey Meal
Horizon Complete	Large Breed Puppy	1.10%			1.10%	28.0%	14.0%	3.0%	10.0%	3620	380	9.53 Chicken Meal	Whole Grain Barley	Whole Grain Oats
Innova	Large Breed Adult	0.90%			0.90%	25.0%	14.0%	5.0%	10.0%	3701	380	9.74 Turkey	Chicken	Chicken Meal
Acana	Senior	1.20%			1.20%	33.0%	14.0%	5.0%		3850	370	10.41 Chicken Meal	Steamed Oats	Brown Rice
Solid Gold	Hundchen Flocken Puppy			2.10%	2.10%	28.0%	14.0%	4.0%	10.0%		370	Lamb	Lamb Meal	Ocean Fish Meal
Nutrisource	Large Breed Puppy	1.00%		1.47%	1.47%	26.0%	14.0%	4.0%	10.0%	3500	360	9.72 Chicken	Chicken Meal	Brown Rice
Solid Gold	Sun Dancer				0.00%	30.0%	14.0%	4.0%	10.0%		350	Chicken	Chicken Meal	Tapioca
Chicken Soup	Adult			1.50%	1.50%	24.0%	14.0%	3.0%	10.0%	3593	336	10.69 Chicken	Turkey	Chicken Meal
Addiction	Salmon Bleu Puppy				0.00%	28.0%	14.0%	3.0%	10.0%			Salmon Meal	Potatoes	Chicken Fat
Addiction	Viva la Venison Puppy				0.00%	28.0%	14.0%	3.0%	10.0%			Vension Meal	Dried Potatoes	Chicken Fat
Blackwood	Sensitive Skin/Stomach Salmon				0.00%	24.5%	14.0%	3.5%	10.0%	3495		Salmon Meal	Brown Rice	Millet
Blackwood	Adult Dog Every Day				0.00%	24.5%	14.0%	3.0%	10.0%	3450		Chicken Meal	Brown Rice	Millet
Blackwood	Sensitive Skin/Stomach Lamb				0.00%	24.5%	14.0%	3.5%	10.0%	3440		Lamb Meal	Brown Rice	Millet
Castor & Pollux Organix	Adult	1.00%			1.00%	26.0%	14.0%	4.5%	10.0%			Organic Chicken	Chicken Meal	Organic Brown Rice
Infinia	Salmon & Sweet Potato	1.20%			1.20%	22.0%	14.0%	3.0%	10.0%			Salmon	Menhaden Fish Meal	Sweet Potatoes
Merrick	Grammy's Pot Pie			1.47%	1.47%	26.8%	13.6%	4.7%	6.3%	3560	356	10.00 Chicken	Chicken Meal	Ground Rice
Merrick	WEF-Adult			1.78%	1.78%	26.6%	13.3%	2.5%	8.1%	3495	352	9.93 Chicken Meal	Turkey Meal	Oat Meal
Addiction	Salmon Bleu			2.50%	2.50%	24.0%	13.0%	4.0%	10.0%	3599	468	7.69 Salmon	Potatoes	Chicken Fat
Great Life	Grain Free Chicken			1.37%	1.37%	30.0%	13.0%	4.0%	10.0%	3995	453	8.82 Chicken	Tapioca	Jicama
Great Life	Grain Free Wild Salmon			2.07%	2.07%	30.0%	13.0%	4.0%	10.0%	3898	442	8.82 Wild Salmon	Tapioca	Jicama
Great Life	Grain Free Buffalo			1.27%	1.27%	30.0%	13.0%	4.0%	10.0%	3799	431	8.81 Buffalo	Tapioca	Jicama
Addiction	La Porchetta			2.50%	2.50%	23.0%	13.0%	3.0%	10.0%	3729	421	8.85 Pork Meal	Ground Brown Rice	Chicken Fat
Blue Buffalo Wilderness	Large Breed Chicken	1.00%		2.3070	1.00%	36.0%	13.0%	7.0%	10.0%	3472	414	8.39 Deboned Chicken	Chicken Meal	Turkey Meal
Annamaet	Option	1.0070		1.20%	1.20%	24.0%	13.0%	4.0%	10.0%	3810	406	9.38 Catfish Meal	Brown Rice	Venison Meal
Nutrisource	Lamb Meal & Rice			1.92%	1.92%	22.0%	13.0%	6.0%	10.0%	3950	395	10.00 Lamb Meal	White Rice	Brown Rice
Pure Vita	Salmon & Potato			1.83%	1.83%	24.0%	13.0%	6.0%	10.0%	3698	388	9.53 Salmon	Salmon Meal	Potato
Pure Vita	Chicken & Brown Rice			1.18%	1.18%	24.0%	13.0%	6.0%	10.0%	3862	383	10.08 Chicken	Chicken Meal	Brown Rice
Pure Vita	Duck & Oatmeal			1.44%	1.44%	24.0%	13.0%	6.0%	10.0%	3774	374	10.09 Duck	Duck Meal	Oatmeal
Pinnacle	Duck & Potato			1.08%	1.08%	23.0%	13.0%	3.5%	10.0%	3370	367	9.18 Duck Meal	Duck Meal	Oatmeal
Brothers Complete	Red Meat Formula			2.20%	2.20%	32.0%	13.0%	4.0%	10.0%	3450	365	9.45 Beef Meal	Tapioca	Dried Eggs
Petcurian Now Fresh	Large Breed Adult	1.10%		2.20%	1.10%	27.0%	13.0%	3.0%	10.0%	3301	363	9.09 Deboned Turkey	Whole Dried Egg	Potatoes
Nutro Ultra		1.10%	1.50%		1.50%	26.0%	13.0%	4.0%	10.0%	3580	347	10.32 Chicken	Chicken Meal	Whole Brown Rice
Chicken Soup	Large Breed Puppy	1.10%	1.50%	1.50%	1.50%	27.0%	13.0%	3.0%	10.0%	3601	347	10.52 Chicken		Chicken Meal
Chicken Soup	Large Breed Puppy			1.50%	1.50%	23.0%	13.0%	4.0%	10.0%	3566	334	10.68 Chicken	Turkey	Chicken Meal
•	Large Breed Adult	0.70%		1.50%									Turkey	
Nutro Ultra	Adult	0.70%	1.60%	1 500/	0.70%	25.0%	13.0%	4.0%	10.0%	3560	334	10.66 Chicken	Chicken Meal	Whole Brown Rice
Artemis Fresh Mix Natural Balance	Medium/Large Breed Puppy		1.60%	1.50%	1.60%	27.0%	13.0%	3.0%	10.0%	3500	327	10.70 Chicken	Chicken Meal	Turkey
	Ultra Premium				0.00%	23.0%	13.0%	3.0%	10.0%			Chicken	Brown Rice	Lamb Meal
Natural Balance	Organic	1 400/			0.00%	22.0%	13.0%	4.5%	10.0%	4022	457	Organic Chicken	Organic Brown Rice	Chicken Meal
Canidae	Lamb & Rice	1.40%			1.40%	21.0% 27.5%	12.5%	4.0%	10.0%	4022 3478	457	8.80 Lamb meal	Brown Rice	Cracked Pearl Barley
Castor & Pollux Ultramix	Puppy	1.00%			1.00%		12.5%	3.5%	10.0%		330	10.56 Chicken	Chicken Meal	Turkey Meal
Lotus	Chicken	1.08%			1.08%	24.0%	12.0%	4.5%	10.0%	3612	683	5.29 Chicken	Chicken Meal	Whole Ground Rye
Timberwolf	Black Forest	1.20%			1.20%	22.0%	12.0%	5.0%	9.0%	3530	500	7.06 Venison	Brown Rice	Lamb
California Natural	Beef & Fish	1.40%		2 220/	1.40%	24.0%	12.0%	4.0%	10.0%	4022	457 454	8.80 Beef	Ocean Fish Meal	Oatmeal
California Natural	Grain Free Chicken Meal	0.000/		2.22%	2.22%	34.0%	12.0%	4.0%	10.0%	3760	454	8.28 Chicken Meal	Peas	Pea Fiber
Petcurian Go!	Sensitivity + Shine Duck	0.90%			0.90%	22.0%	12.0%	3.5%	10.0%	3649	438	8.33 Duck Meal	Oatmeal	Potatoes
Petcurian Go!	Sensitivity + Shine Salmon	1.00%			1.00%	22.0%	12.0%	3.5%	10.0%	3561	427	8.34 Salmon Meal	Oatmeal Sweet Potatoos	Potatoes
Earthborn Holistics	Ocean Fusion	1.50%			1.50%	22.0%	12.0%	4.0%	10.0%	3530	415	8.51 Whitefish Meal	Sweet Potatoes	Ground Barley
Earthborn Holistics	Adult Vantage	1.20%		2.400/	1.20%	22.0%	12.0%	4.0%	10.0%	3515	410	8.57 Chicken Meal	Oatmeal	Ground Barley
Addiction	Le Lamb	0.000/		2.10%	2.10%	22.0%	12.0%	3.5%	10.0%	3570	403	8.85 New Zealand Lamb Meal	Ground Brown Rice	Ground Oats
Nature's Variety Prairie	Puppy Large Breed	0.90%			0.90%	26.0%	12.0%	3.5%	10.0%	2470	402	Chicken Meal	Brown Rice	Barley
Horizon Amicus	Senior & Weight Management	1.24%			1.24%	30.0%	12.0%	4.3%	10.0%	3470	400	8.68 Turkey	Chicken Meal	Red Lentils
Lotus	Lamb	1.83%		1.300/	1.83%	24.0%	12.0%	4.5%	10.0%	3575	395	9.05 Lamb	Lamb Meal	Whole Ground Rye
Nutrisource	Weight Management			1.20%	1.20%	21.0%	12.0%	5.0%	10.0%	3770	385	9.79 Chicken	Chicken Meal	Brown Rice
Fromm	Large Breed Adult Gold		4 8000	4.000	0.00%	23.0%	12.0%	3.5%	10.0%	4081	379	10.75 Fresh Duck	Chicken Meal	Fresh Chicken
Solid Gold	Wolf Cub Puppy		1.50%	1.80%	1.80%	26.0%	12.0%	4.0%	10.0%	25-2	375	Bison	Ocean Fish Meal	Brown Rice
Horizon Complete	Large Breed Adult	1.10%			1.10%	28.0%	12.0%	3.0%	10.0%	3550	373	9.52 Chicken Meal	Whole Grain Barley	Whole Grain Oats
Solid Gold	Mmillennia Beef & Barley				0.00%	22.0%	12.0%	4.0%	10.0%	c= -	370	Beef	Ocean Fish Meal	Cracked Pearl Barley
Innova	Large Breed Puppy	0.90%			0.90%	24.0%	12.0%	4.0%	10.0%	3566	367	9.72 Turkey	Chicken	Chicken Meal
Lotus	Grain Free Duck	1.66%			1.66%	27.0%	12.0%	6.0%	10.0%	3273	367	8.92 Duck	Duck Meal	Tapioca Flour
Castor & Pollux Ultramix	Grain Free Duck Lamb & Rice Adult				1.10%	22.0%	12.0%	3.0%	10.0%	3413	356	9.60 Lamb	Lamb Meal	Brown Rice
	Grain Free Duck	1.66%	1.60% 1.50%	1.50%										

Chicken Soup	Senior			1.20%	1.20%	22.0%	12.0%	3.0%	10.0%	3364	315	10.68 Chicken	Turkey	Chicken Meal
Castor & Pollux Organix	Grain Free Adult	1.00%			1.00%	30.0%	12.0%	3.5%	10.0%			Organic Chicken	Poultry Meal	Organic Tapioca
Dogswell	Happy Hips	1.40%			1.40%	24.0%	12.0%	5.5%	10.0%			Chicken	Chicken Meal	Oats
Dogswell	Vitality	1.40%			1.40%	24.0%	12.0%	6.0%	10.0%			Chicken	Chicken Meal	Oats
Natural Balance	Lamb Meal & Brown Rice				0.00%	21.0%	12.0%	4.0%	10.0%			Lamb Meal	Brown Rice	Ground White Rice
Merrick	SR Medley			1.48%	1.48%	24.6%	11.7%	5.3%	7.9%	3343	334	10.01 Chicken	Chicken Meal	Ground Rice
Merrick	Turducken			1.43%	1.43%	25.2%	11.6%	5.0%	7.2%	3543	354	10.01 Chicken	Turkey Meal	Ground Rice
Natural Balance	Alpha Chicken, Turkey & Duck				0.00%	26.0%	11.5%	4.0%	10.0%			Chicken	Potatoes	Chicken Meal
Natural Balance	Alpha Lamb, Chicken & Rabbit				0.00%	26.0%	11.5%	4.0%	10.0%			Lamb	Chicken Meal	Potatoes
Natural Balance	Alpha Trout, Salmon & Whitefish				0.00%	26.0%	11.5%	4.0%	10.0%			Trout	Potatoes	Garbanzo Beans
Merrick	WEF-Senior			1.71%	1.71%	26.6%	11.4%	2.1%	8.7%	3395	342	9.93 Chicken meal	Turkey Meal	Oat Meal
California Natural	Chicken Meal & Rice			1.51%	1.51%	21.0%	11.0%	1.5%	10.0%	4092	511	8.01 Chicken Meal	Brown Rice	Rice
California Natural	Grain Free Venison			2.21%	2.21%	21.0%	11.0%	4.0%	10.0%	3840	463	8.29 Vension Meal	Peas	Potatoes
California Natural	Grain Free Lamb Meal			2.10%	2.10%	21.0%	11.0%	4.0%	10.0%	3730	450	8.29 Lamb Meal	Peas	Potatoes
Tuscan Natural Simply Pure	Chicken Meal			1.10%	1.10%	21.0%	11.0%	1.5%	11.0%	3540	440	8.05 Chicken Meal	Brown Rice	Rice
California Natural	Grain Free Salmon & Peas			1.27%	1.27%	28.0%	11.0%	6.0%	10.0%	3495	435	8.03 Salmon Meal	Peas	Green Lentils
California Natural	Grain Free Kangaroo & Red Lentils			0.76%	0.76%	21.0%	11.0%	6.5%	10.0%	3487	434	8.03 Kangaroo	Red Lentils	Green Lentils
California Natural	Lamb Meal & Rice			2.14%	2.14%	21.0%	11.0%	2.0%	10.0%	3999	430	9.30 Lamb Meal	Brown Rice	Rice
California Natural	Herring & Sweet Potato			1.00%	1.00%	21.0%	11.0%	3.7%	10.0%	3474	419	8.29 Herring	Barley	Oatmeal
Tuscan Natural Simply Pure	Lamb Meal			2.70%	2.70%	21.0%	11.0%	2.0%	11.0%	3280	390	8.41 Lamb Meal	Brown Rice	Rice
Fromm	Classic Mature Adult				0.00%	21.0%	11.0%	3.5%	10.0%	4004	388	10.32 Fresh Chicken	Chicken Meal	Pearled Barley
Fromm	Reduced Activity Senior Gold				0.00%	23.0%	11.0%	3.5%	10.0%	3993	367	10.88 Fresh Duck	Chicken Meal	Fresh Chicken
Fromm	Whitefish & Potato				0.00%	23.0%	11.0%	3.5%	10.0%	3956	352	11.23 Fresh Atlantic Whitefish	Menhaden Fish Meal	Fresh Russett Potatoes
Petcurian Now Fresh	Large Breed Senior	0.90%			0.90%	25.0%	11.0%	4.5%	10.0%	3122	328	9.52 Deboned Turkey	Potatoes	Peas
Castor & Pollux Ultramix	Large Breed Adult	0.90%			0.90%	25.0%	11.0%	4.0%	10.0%	3417	324	10.56 Chicken	Chicken Meal	Turkey Meal
Nutro Ultra	Senior	0.70%			0.70%	26.0%	11.0%	4.0%	10.0%	3400	314	10.83 Chicken	Chicken Meal	Whole Brown Rice
Nutrisource	Senior			1.05%	1.05%	26.0%	10.0%	4.0%	10.0%	4271	427	10.00 Chicken	Chicken Meal	Brown Rice
Horizon Complete	Senior	1.10%			1.10%	24.0%	10.0%	4.0%	10.0%	3450	405	8.52 Whole Grain Barley	Chicken Meal	Whole Grain Oats
Pinnacle	Trout & Seet Potato			1.00%	1.00%	22.0%	10.0%	4.0%	10.0%	3520	405	8.69 Trout	Oatmeal	Herring Meal
Blue Buffalo Wilderness	Healthy Weight Chicken	1.30%			1.30%	30.0%	10.0%	9.0%	10.0%	3367	396	8.50 Deboned Chicken	Chicken Meal	Turkey Meal
Innova	Senior Plus	0.99%			0.99%	24.0%	10.0%	5.5%	10.0%	3491	391	8.93 Turkey	Chicken	Barley
Solid Gold	Hund-n-Flocken Adult				0.00%	22.0%	10.0%	4.0%	10.0%		367	Lamb	Lamb Meal	Brown Rice
Annamaet	Adult			0.88%	0.88%	23.0%	10.0%	4.0%	10.0%	3680	365	10.08 Chicken Meal	Brown Rice	Millet
Innova	Large Breed Snior	1.00%			1.00%	26.0%	10.0%	3.0%	10.0%	3516	361	9.74 Turkey	Chicken	Chicken Meal
Wellness CORE	Reduced Fat		1.30%		1.30%	33.0%	10.0%	8.5%	10.0%	3250	360	9.03 Deboned Turkey	Turkey Meal	Chicken Meal
Acana	Light & Fit	1.30%			1.30%	35.0%	10.0%	6.0%		3450	325	10.62 Chicken Meal	Steamed Oats	Fresh Free-Run Chicken
Artemis Fresh Mix	Medium/Large Breed Senior		1.50%	1.40%	1.50%	20.0%	10.0%	3.0%	10.0%	3421	320	10.69 Lamb	Lamb Meal	Brown Rice
Castor & Pollux Organix	Weight Management	0.80%			0.80%	21.5%	10.0%	5.5%	10.0%			Organic Chicken	Chicken Meal	Organic Brown Rice
Natural Balance	Sweet Potato & Chicken	1.00%			1.00%	21.0%	10.0%	3.0%	10.0%			Sweet Potatoes	Chicken Meal	Chicken Fat
Natural Balance	Potato & Duck	1.00%			1.00%	21.0%	10.0%	3.0%	10.0%			Potatoes	Duck Meal	Duck
Natural Balance	Sweet Potato & Fish	1.00%			1.00%	21.0%	10.0%	3.0%	10.0%			Sweet Potatoes	Salmon Meal	Salmon Meal
Natural Balance	Sweet Potato & Bison	1.00%			1.00%	20.0%	10.0%	4.0%	10.0%			Sweet Potatoes	Bison	Potato Protein
Natural Balance	Sweet Potato & Venison	1.00%			1.00%	20.0%	10.0%	4.0%	10.0%			Sweet Potatoes	Venison	Potato Protein
Castor & Pollux Ultramix	Weight Management	1.00%			1.00%	23.5%	9.5%	13.5%	4.5%	3267	341	9.59 Chicken	Chicken Meal	Turkey Meal
California Natural	Low Fat Rice & Chicken Meal			0.98%	0.98%	21.0%	9.0%	1.5%	10.0%	3421	391	8.75 Brown Rice	Chicken Meal	Rice
Solid Gold	Wolf King				0.00%	22.0%	9.0%	4.0%	10.0%		364	Bison	Ocean Fish Meal	Brown Rice
California Natural	Low Fat Rice & Lamb Meal			1.68%	1.68%	21.0%	9.0%	2.0%	10.0%	3490	317	11.01 Brown Rice	Lamb Meal	Rice
Blackwood	Adult Dog Lean				0.00%	20.5%	9.0%	4.0%	10.0%	3260		Chicken Meal	Brown Rice	Millet
The Honest Kitchen	Zeal		1.37%	0.63%	1.37%	36.3%	8.5%	5.6%	8.1%	3800	437	8.70 Dehydrated White Fish	Sweet Potatoes	Eggs
Canidae	Platinum	1.20%			1.20%	20.0%	8.5%	4.0%	10.0%	3328	330	10.08 Chicken meal	Brown Rice	White Rice
The Honest Kitchen	Verve		1.73%	0.80%	1.73%	21.7%	8.0%	5.0%	7.6%	3880	441	8.80 Dehydrated Beef	Organic Oats	Organic Rye
Lotus	Senior	0.61%			0.61%	18.0%	8.0%	4.5%	10.0%	3464	389	8.90 Chicken	Whole Ground Rye	Chicken Liver
Innova	Senior	0.74%			0.74%	18.0%	8.0%	5.5%	10.0%	3331	374	8.91 Turkey	Chicken	Barley
Addiction	Wild Kangaroo & Apples			2.40%	2.40%	22.0%	8.0%	7.0%	10.0%	3240	373	8.70 Dried Kangaroo Meat	Oats	Peas
California Natural	Chicken Meal & Brown Rice Senior			1.53%	1.53%	24.0%	8.0%	4.0%	10.0%	3432	354	9.69 Chicken Meal	Brown Rice	Rice
Natural Balance	Reduced Calorie				0.00%	18.0%	8.0%	8.0%	10.0%	3342	294	Brown Rice	Chicken	Chicken Meal
Natural Balance	Vegetarian				0.00%	18.0%	8.0%	4.0%	10.0%			Brown Rice	Oatmeal	Cracked Pearl Barley
Solid Gold	Holistique Blendz				0.00%	18.0%	6.0%	4.0%	10.0%		340	Oatmeal	Cracked Pearl Barley	Peas
Artemis Fresh Mix	Weight Management		1.20%	1.10%	1.20%	20.0%	6.0%	3.0%	10.0%	3293	308	10.69 Rice	Chicken Meal	Chicken
				1.20%	1.20%	20.0%	6.0%	8.0%		3088	289			